N = 0l & AF & F Al A

SN R
MR FOIE NYHE AE(PLH)(YNIBHT/ LB HE)
el Ssts HETH (9l &2
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 )= e B2
2o 422,621 401,268 21,353
ZOIE0 YN A (Y DHH/LBHY) 376, 107 353,728 22,379
SMots MR 179,671 166,082 13,589
Ngsses 2,000 3,000 A1,000
301 LB A 2,000 3,000 A1,000
10 BAE 243 2,000 3,000 A1,000
O2.81% 23| b 2R
5,00021 200 *23] 2,000 3,000 A1,000
ZxNpe2Y 86,550 71,550 15,000
401 Al&HIL 20| 15,000 0 15,000
01 Al&H] 15,000 0 15,000
ODISHAIE &3] 3,000, 0002 *57H 15,000 0 15,000
PR 6,756 7,167 A1
201 LByl 6,365 6,776 A1
01 Attt 5,027 5,438 A411
OfIRA2Y (0 A= 1,287 1,488 A201
~-% ¥ 82 65,0002+ 12 142 A +0.8 807 1,008 A201
OB LAET (0 AE ) 890 1,100 A210
=t 50,0002 ¥10Z+0.7 350 500 A150
—ERME 3,0002 %100 +0.8 240 300 A60
WEE MBHE T4 94,841 85,081 9,760
NDFRI &2 E Y| 2,360 2,600 A240
201 LByl 2,160 2,400 A240
01 At 22l 2,160 2,400 A240
ODZSFA 2u+H(HMEY
152+80,000 £ %0.8 90 1,200 A240
ZolsANY 2 60,000 50,000 10,000
201 Yereg| 10,000 5,000 5,000
01 At 2ty 10,000 5,000 5,000
OATRRAY Axt2 1,000,0002 103! 10,000 5,000 5,000
206 T2l 50,000 45,000 5,000
01 WEHl 50,000 45,000 5,000
OARDAY THRHI 50,000, 0002 50,000 45,000 5,000
SEXO FHARL 89,320 90,290 A970
ZRMMSY 89,320 90,290 A970
201 LByl 85,380 86,350 A970
01 Attt 10, 130 1,100 A970
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